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Material for Second year Students

Subject- Sanskrtit - Grammar (@WIT[)
FEA-JII-F0T (Kridanta Suffix Forms)

Sanskrit is the oldest among all Indian Languages. Most of the words in Sanskrit end with
Suffixes. All words in Sanskrit are derived from Verb-roots . The words in Sanskrit are formed
with suffixes added to verb-roots. The Suffixes are many types, among them Kridanta
Pratyayaas are one-kind. Added to verb-roots, by which type of Suffixes the Noun, Adjective
& Indeclinable words are formed, those suffixes are called with the name Kridanta Suffixes

(Ed-ScAIqT:). Kridanta can be divided into Krit(shd) + anta (ending). It means ending with Krit

Suffixes (Speq FIIT:).
For Example — Kru (root-verb) + truch (Krit Suffix) = kartru

% (H@ ) + ﬁ(ﬁw) = ﬁc (the verb is karoti Wﬁﬁf)
ltmeans F+ T > R+ J= Tm'_cj here sh becomes &Y and in 9 the I goes

according to Some Sanskrit grammar rules, written by Panini, the Grammarian of Sanskrit
(which are not necessary now for exams).

In this example Jd is one type of ohd Jcdd:, that is Krit — Suffix. And the

word formed with this Krit Suffix is called as Kridanta Shabdah or Kridanta Padam. These
Kridantas are not the direct-verbs. Sometimes , they can give the meaning of verbs. That’s why

these are also called as a-ting (C’ﬂi%i@;) which means not ending with %@: JIT: (all verbs are

ended with these ﬁl@: YIAT:). As these are not verbs , these may be nouns, adjectives and in-
declinables. Now we discuss about some Kridanta Pratyayaas. In our Syllabus the given Kridanta
Pratyayas are 8. These are also called as Kridantaas.

1. FG T 2. Y I 3. JEYREE: 4. T TR

5. dq Jcdd: 6. AJ IIA: 7. AEA IIA: 8. doF TIY:
Now we discuss the all above Pratyaas with examples one by one . you will be asked to identify
the Pratyayaas in the given Sentences in Exam. Before identifying them we should know, what
are these eight Pratyayaas & how they are formed & in which meaning they are used. Let us go
for the details of these Pratyayaas.



1.9l AcAH: — This Pratyaya is used for as an un-ended action in Past-tence. By adding this

Pratyaya (Suffix) to any root verb , the meaning of that particular verbal word will not come to
an end. It requires the sentence, to be continued further (in Sanskrit it is said as Asamaapaka
Kriyaa). Where this Pratyaya is used there another direct-verb will also be used. This Suffix-
attached word is treated as an indeclinable according to grammar.

For Example — TH: YIIST Sheall TISIMAH ST |

(Rama went to School having completed/done his Lunch)
TP0c Sado B FETVL DFyR0.

T IS e {oraITerd sl TR |

The word in bold letters in this sentence, is made of this ktwaa 9l Pratyaya. In this
sentence Kru ( % ) the root-verb of karoti-verb(ﬂ%ﬁﬁ&doing), is added with the Pratyaya

ktwaa (cdl). Here the Ka (E) in ktwaa (%Fcdl) will be left, according to grammar rules and only

twaa is remained. Now see the detail picture ......
Kru + Ktwaa = Kru + twaa = Krutwaa (having done )

F+IAl =% +dl = hedl
When anybody says “having done”, that means the sentence-meaning is not completed , it
requires to be completed with another verb. Here in this sentence with the word Agachchat the
sentence comes to an end. But not by the word ktwaa.

Now how it is asked in the examination. The sentence like above will be
given in examination. You have to identify that which pratyaya is used in this sentence among
the eight Pratyayaas of our syllabus & how it is made.(to which roor-verb, the pratyaya is
added)

For practise, in the text book 12 verb-roots & the words made of these verb-roots
with the pratyaya ktwaa are given. Observe them & Practise as same as above.

1. S Bhuj ( eat) N Yercdl
2 4l Daa (give/donate) Sl
3 Al Jnaa (Know) et
4. ¥ Sthaa (stay/stand) > + Fcdl = feerean
5 ﬁf Ji (victory) Stean
6 g Dhru (wear) ) Yol



7. H Nee (taking away) A e

8. Q&R Drushir (seeing) aogl

9. T Gana (counting) + Fcdl = TOTRIcaT
10. Yg Patth (read) > gfdean
11. ¥ Smru (remember) Hcdl
12. T Gam (go) J Tedl

Now observe how the changes occur in the above words one by one according to grammar
rules.

1.9 + @1 = S+ @1 = ¥ + @ = 9§l

2.3 +F@ = [{+@N = T+ = Tl

3.1+ &cdl = AT+ ol = JAlcdl

4. T + Fcal = I + @1 = R

5. + @ = © + @1 = ™

6. 4 + Fdl = g+ @ = el

7. 1 + edl = i+ o1 = e

8. RN + oFcall = qu[ + &1 = qY +ca1 = Y + < + a1 = TFI
9. U] + Fcal = TOR] + &l = TR + § + cal = TUTRIca
10. 93 + Al = U3 + & = U3 + § + @ = ufdcan
11. | + Fcal = | + @ = Tl

12. T + Fcal = T + &l = Tedl




2. Y IIH: (the Suffix lyap)— This Suffix is attached to the verbs which are having the

prefixes before them. These prefixes are called as Upa-sargas in Sanskrit. This lyap (FEI‘T{)
pratyaya is also used in the same meaning as the previous pratyaya ktwaa (acdl), but it will be
attached only with the prefix-attached-verbs (W—H’%H—HT@W:). It means this suffix also
gives the uncompleted meaning(Wﬁ]‘ﬁ‘%ﬂW: 3T9j“;[) to the verbs. There are 22 Upasargas

(Prefixes) in Sanskrit. They are ¥, 0T, &9, 3] , 39 , g4, ¥, F&, AL, oft, uid, &,
Mg , Ald, 39, 30T, 39, g, 3 ....etc.

These upasargaas are having some different meanings separately. When these
are added to verbs, the actual meaning of the verbs may be changed or strengthened, may give

opposite meaning also sometimes.(Like- TSI going , AT coming, gfrresid going-
back, W&[ going-up, TEoad meets, mﬁﬁgoing-nearby, fresfa exits, AT
going face to face, AfdTesid going over, HATTBI going-far 34’:["!?9'&[ following,
A3 understands. This information is given only for understanding.)

Now see an example of this Suffix-attached word.

B STERY T TR |
(student salutes teacher, having gone nearby
DT eseeEd) (i8S Dy DLOI Bo BRI €.
BT AT o JRT ST THERR R TR | )

Here in the sentence the bold letters are having lyap ( @Y ) Pratyaya. Now see how the word is
formed.

When &cdl Pratyaya is added to TTH ¥1q: the position will be TH + acdl = Tcdl
When a prefix 34 is added to this, then the position will be like this

39 (prefix)+ T(root verb) + & (suffix)= 3T+ ™HtIq = 39 + ™+ I=37H
In the lyap( ©d9 ) pratyaya, & & Y will leave and only I will remain according to grammar
rules and form 39TTH]. This Suffix-attached word is treated as an indeclinable 3{og9:



according to the grammar.
In the exam a sentence will be given, like the above example and you will be asked
to find out the Suffix used in the underlined or bolded word. You have to write whether it is

dcdl pratyaya or @Y pratyaya or one of the upcoming remaining 6 pratyayas & explain how it

is formed and the meaning of this also, as explained in the example above.
Some other words are also given in the textbook, having this suffix with different verbs &
different Prefixes.

1. 3 (prefix) + 1 (root verb) + Y (suffix) = 3THI having brought
2. g9+ q + g = Uﬁ?q having heard (here q is added additionally according to rules)
3. Mg+ |+ 4= AR having ascended

.fa + M+ g = fafe=T having thought

4
5. 3+ Y + = I having experienced
6. I+ fo+ @y = ufowx having entered

7.9+ 9 + @Iq= TN having saluted
8. m+fa+ oJq = fafser having won (here q is added additionally according to rules)
9. 3+ % + Y = 3IUhcd having helped (here q is added additionally according to rules)

10,3 + F5 +eIY = ANE=  having appreciated
1.3 + 35 +aq = MG having saluted
3. I I (the Suffix Tumun) — This Suffix Tumun(HH) is attached to root-verb of any

verb to say the purpose of Main verb in a sentence. For Example observe a sentence here.

olcTeh: tl){flciv ‘ﬂ%@{ﬂfﬂlﬁ_’ld TR | A boy is going towards library to read a book.
Here the word Pathitum is attached with tumun pratyaya.

93 (root verb) + T (suffix) = U3 + 3 (3T-3TM:) + T = 93 + 3+ = Ule
Here between patth and tumun, an additional pratyaya called id-aagama comes according to
rules and forms ‘ﬂ%@{(Pathitum). Here the - is left in §H- according to rules. In the same way
sometimes the 49 (tumun) changes to ¢Hv and Ml becomes ¥sh according some Sandhi-
rules.
o e o o . .
Jh: AAIEA 5§ TAHIT T=S]d | An young boy goes to Cinema hall to see a cinema.




Here the word drashtum is attached with tumun pratyaya.
§|§|{ (root verb) + dH 1 (Suffix) = §3‘L+ dH = ?{3’[\"‘ dH = §EL+ gH = sS4

This Suffix-attached word is treated as an indeclinable (315’4?1:) according to the grammar.
Some other examples are given in text book , look at them once.

1. T (root verb)+ T (Suffix) = T + T = T=gH. to go

2. M+ g =T+T= gL to take away
3. f+t T 9Nt @ =W+ T WgH to eat

4. F +TH= W+ = ®G4  to do
5.+ g = @ +qq = aqIgq.  to give

6. B+ TH=93 +3+ T= qfda  to read
7.9 +q1= I+ qH = IPH.  to tell / to speak
8. [+ qH= I+ 3+ = ARG, to steal

9. ) +qH= =+ qu= WG, to praise
10. Y+ = W +FH = W+ 3+ = AegH to be

11. g+ TH= A+ T= AL to listen

12. @g+ g = @t 3+ ¢ = @ifegq, to eat

4. (EE'H‘T) qqT: (the Suffix Kta) - This Suffix ‘Kta’ is used in Past tense in Sanskrit.

It is used in passive voice . This suffix-attached word follows the Object-word only, but not the
Subject-word. it gives the meaning that the work is done by somebody (according to the verb).

In this pratyaya(suffix) the % will go according to rules, only d remains after adding to root-
verb. For Example let us observe the sentence given below.

STcTeh g{*dOI') qﬁ?ﬂ{ | The book was read by a boy.
In the word ‘T%T‘F{the verb-root U3 is attached with the Kta(th) Pratyaya. By listening to this

word "lﬁ?l"{(was read), the question arises that by whom it was read. Then the answer comes

a|'|ﬁa't_"f(by the boy). gfad:
G+th=93+3+d= qfed Here id-aagama (3¢ 3ANTH:)comes. qied qfear

This afed (pathitha) word gives the meaning of past-tence. This word will be in all m



Three genders as lq%?‘f:(Masculine-&%ﬁ), Q'%T'H(Feminine—’éﬁm), EI'["Eb_cl'lil\(Neuter—
TYEHITH).

Observe some other Suffix-attached words from the textbook.

gfr wR TR

1. 9T (root verb)+ h (suffix)= 9 +d=Yd drunk - Yid: didr ‘Tﬂ?l'l{
2.+ =d+d= dd saluted /bent = H{dd: Adl  {ddHq
3.d+wm=dA+d= dHid taken away - did: diar  Hidq
4. J+h=FJAT+d= Fd Known —  Jid: JIdl  JIdH
5. Y +H =+ d=7TsY got — IoE: oYl Isey
6.al+h=dg+d=cd+d=7<cd given— g&d:  qdl Gdy
7. 5 +h =% +d = d Praised Wd: &dl &d4
8. hY+h =hY+d=h+3+d= U narrated /told HIA: I ﬁ%’l{
0. R+ H = +aA=qY+T =38 — seen g% go  g{

5. Wdg / ad I : (ktavatu/ktavat Suffix) — this Suffix is used in Active voice
(ﬁﬁ%‘?ﬁﬂ:/ ﬁ?ﬂaﬂ{) only. This suffix-attached word follows the subject-word(ﬁm) only
in a sentence . when this pratyaya is attached to the root-verb of any verb, then the starting
letter % and the ending letter 3 in the pratyaya will go/leave according to grammar rules. only

ddl in pullinga (Masculine gender), dadt in Stree linga (Feminine gender) and ddd_ in neuter

gender is remained. Even though it gives the meaning of past tence, it is not treated as direct-
verb and it works as a shabda(Ex. Rama ), it is also having 24 forms like Shabdas , 7 vibhaktees

& three numbers along with sambodhana Vibhakti.
Observe the example —

S{Ieteh: W‘Tﬁ?ﬁﬁl The boy has read a book.
WWW | The girl has read a book.

Here in the word the root verb Y3 is attached with the pratyaya T™hd{ . see how the changes

occur.

Y3 + Tl = U + Tad = U3 + ¥ (3T —TFH: )+ qaq = ufdda Cr%‘cla?ﬁ )
qfederd (TgEeHfer)




For some verbs, between the root verb and the suffix, the id-aagama (3)comes. Not for all
verbal forms. And this word ‘?ﬂ%_daﬂ will get into three gender forms as Q%T'laﬁ )

tr%—claa?,tr%aam we have to find this word in the given sentencd in exam that which suffix is

used in the underlined word and if it follows the gender, in which gender it is & how it is
formed& meaning .

See some examples given in the text book. E[%i% ifete :IQHGF%I%
1. 99+ Hag = 99 + qad = 3% + q9q = A has said R Jhadl Ikl
2. U+ Thag = I+ daq = 9T + dad = fidad,  has drunk diqad didaq didaq
3. [N+ wag= [ +daq = Saaq has won Ndae,  fSidedt  ’ideq
4. W+?W§=W+3+W=Tlﬁﬂaﬂ has counted rrfﬁmaﬂ JINGEG| ﬂﬁlﬂ_olﬂ
5. T+ Theld = T + dold, = e has known SIGELS S |G NG
6. T + hag = T + dod = 7 + deid = 7deid.  has gone TaaH  Tdedl  Tded
7. Y=+ Thad = J + d9d = 9+ 29d = I¥9d_ has asked oM 9Sedl  g¥ed,
8. Y+ had = kY + 3 + dad = ﬁ%ﬂ?{ has narrated EF@J?IGFL et ﬁ%ﬁ?{
9. 3R + THag = G + daq = T +29d = TG has seen guar  gEadl  gFed
10.%@& had= %@+ g+ dadq = %f@aaq has written %lf\@ﬂ?ﬂi fetTfaderdt %ﬁ@ﬂ?ﬂ
11.W+W=ﬁ$+ﬁﬁ?{=f@ﬁaﬂ has stood ﬁ:%?ﬂ:[ feerderdt ﬁ:%?slﬂ
12. &S] + Thag = b + qIdq = Iehad has left Ihd cIhadl kA

6. AF-TI: (the Suffix Shatru) — this suffix ¥ is used to denote the present continuous
tense-meaning. That is JqHTeRTA. This Suffix is used in active voice only.this Shatru pratyaya is
attached only to Parasmai Padi Dhatus(with the verbs ending with ). and this also used as
adjective. So it is also having three genders. This Shatru (q) pratyaya can be divided into

syllables like [+ A + K. Here the T and 7 will be left according to the rules of grammar.
Only the is remained to add with the verb-root. Then it will be getting three gender forms like

3 3l A . now let us observe when it is attached with a verb-root. See the Example
sentence also.

CINEF g&d% 93 ST foeIfd | the boy was drinking water while /being reading.
STToTeRT g%dci) eSS GRPE ] | the girl was drinking water while/being reading.
Here the bold lettered words are attached with Shatru Pratyaya. 91 (IW)
93 + ¥q = U3 + 3 = T <> TS ()
Y3 (FoeRicrR)




Now observe some Shatru pratyaya —attached words given from textbook.

Meaning E[%I% Hifew qﬂ'ﬂ%“%ﬁ

M+ 3q = ﬁg + HAq = ﬁl’gi— being standing f%@{ TSt ﬁgﬂ\
?ﬁ'l'{+‘fl?j=w+ A = WA — being seeing EEDE B OB I R
a1 +3q = fEIE[+3:|?‘L= ﬁa?{— being drinking fEIEFL forer=<t ﬁaq
N+3g=+3q=STq -  beingvictorious ST &<l SRq
I +3q = JF +3Aq = JId -  being dancing  JIq jcq-dﬁl Jcddq
.+ = 9 + Aq = | - being L CE MR G
g+ =9+ Aq =9<d -  being cooking U<l il 9dq
T + 319 = o + 31 = fof@q —being writing ~ fofeq,  fofe=it  fofeq,
TH + I = T + I = 1] - being saluting ~ THH  dH=l A
10.5p% + 3 = W + AJ = W —- being Angry PRI gh“q-dnl PRI
11.9%% + Iq = =0 + 3d = J=&d — beingasking ~ To&d J=o=dl Jo=sd
12. 9d + ¥q = Iq +3Ad = Tdq - being falling . Ydwdl  9ddq

© ®©® N o U b W N E

7. A HeqF: (the Suffix Shaanach)- This suffix is also used to say the meaning of present
continuous tense only. But it is affixed to only Atmanepadi Dhaatus(the verbs hich are ending

with a)forexamplethewordsllkeaﬂﬁ az%r El?‘ﬁ' 3% ﬁ'ﬂa 1:If_l?[ This-suffix-attached-

words are treated as adjectives also. Then these will get three gender forms. Then they will
work as Shabdas and will have the 24 forms Seven Vibhaktees along with sambodhana as
Shabdas. This Shaanach Pratyaya can be devided into syllables ...

M = YFHAM+ . the I and < will be left according to grammar rules. Only
HI remains . when it is attached to roor verbs, for some verbs the Hh—3{H: Mugaagama
will come between the root verb and Suffix. Y% means ¥H_ only. The ¥ joins in middle to get

the verbal form. Then HI is seen in the verbal form . See the example & explanation.

EINEX WW RSO RUTT | the boy is talking being/while working
STfcAehT wﬁfm TRISOT RUTT | the girl is talking being/while working
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dcdeh: d<H[A: Q'C[Uﬁﬁ | the boy is listening being/while saluting
EIIGED WQIUﬁﬁT | the girl is listening being/while saluting

et (ferw)
o — F + T = L+ A = Fano - w‘?rrrr (Bhfers)
st (s ), e ()
JGd— FE+ MG =aG+ AN =T5+ + AF =  F<AA <A (Hiers)
A (TqHRT)

you will be asked to identify the underlined word in a given sentence in exam that which
Pratyaya is used in this word. Now see some examples given in textbook.

T + Y= o +9 +3TH = @A being writing  feamH:  fofemm foremg.
T + 3 = T + { + A = T=HH being going THE: THHET THHEH
<9 + Y = Y + 4 + 3TH = dREE being giving aEME: dEHET SEEEH

1. 9 + 3 = Eﬁi+ H+3AH = eI being increasing ~ JYAM:  JEAMT aﬁfﬁlﬂ‘{
2. o1 + Y = dq + AW = &aH being giving Gal: qaHl  G&HH
3. d] + I = T + A = d<H being expanding  d<M: ddHl  dHH
4. 4 + ;A = YT + A = JoqH being listening AU HOIHET  HUATHH
5. HJ + M = H] + AH = HdH being thinking HdH: HdMEl  HaMHY
6.

7.

8.

S.W—W:(the Suffix tavya)— The Suffix tavya ( d=d) is used to say the compulsion

of any work to be imposed on somebody. It is used in passive voice only. It is also used as
adjective.So this Suffix attached-word follows the karma padam(object) only. According
to the gender of object it also changes into the same gender.

For Example see the word W(kartavyam). As it is used as an adjective also this will
get three forms of all three genders. %éw:, o] ) ohcfoqli

gd: INIE: ;| Yogaabhyaasa should be done by all.
HAUT SO Faedl | Service to poor people should be done by everybody.
T AT a'ﬁaﬂ[ | Dharmaacharanam should be done by you.
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How this suffix-attached word is formed. Once observe it.

heied: (ITw)
F + doF = F + doF = FoA ﬁaﬂ( )
A, (TEehIeTs)

See some examples from textbook.

1. N+da =3 + 79 =39 Should win JAqeT:  SdeN  Slasyq
2.  + = + qT = AaH Should take away JqeT:  Ade '\-Icloéll-L
3.+ dI =W+ dqA = g Should remove  ed: &S 37“3“15[
4. 9 + dod = dh + dod = dthed Should say Aathod:  dthodl  dthodH
5. &l + doJ = qldsd Should give qldey:  QIdedl  QldedH
6. AT + dod = HJd Should stay Eldod: Yol EJTdodq
7. TH + T = T=dgqq Should go Teded: Tl TT=dedq
8. % + T = ol + TT = A Should listen ~ AdeT: HAlGSAT  HAdTH.
9. J=S+dq=U=+dA=UY+IA=TYE Should ask g

10. JHTA=F+TA=+3+TF =4I Should be fardes:  wfardean widdeay

See example lines in all Pratyayaas. That type of sentences will be given
in the exams. The Suffix-attached word will be given boldly or underlined. Then student has to
identify the particular Pratyaya(suffix) from these 8 pratyayaas. It can be easily identified.
Because the endings are seen. We have to write how it is formed & the meaning of the
particular word as it is explained in all above Pratyaya-explanation. You can search the Suffix-

attached sentences in the lessons and practise .
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